
www.gpd.com.tr

����

WATERWORKS  
NETWORK PRODUCTS 

���������



CODE PRODUCT NAME DIAMETER SURFACE

**  All products on this page have special productions. On demand , the surface can be manufactured with Nickel-coated.

BAV01
BAV02
BAV03
BAV04
BAV05

PE Pipe Connection Adapter Valve
PE Pipe Connection Adapter Valve
PE Pipe Connection Adapter Valve
PE Pipe Connection Adapter Valve
PE Pipe Connection Adapter Valve

Ø25-Ø25
Ø32-Ø32
Ø40-Ø40
Ø50-Ø50
Ø63-Ø63

Brass
Brass
Brass
Brass
Brass

Brass
Brass
Brass
Brass
Brass
Brass

Brass
Brass
Brass
Brass
Brass
Brass

Brass
Brass
Brass
Brass
Brass

Brass
Brass
Brass
Brass

Brass
Brass
Brass

BRB12
BRB13
BRB14
BRB15
BRB16
BRB17

Pipe Connection Coupling
Pipe Connection Coupling
Pipe Connection Coupling
Pipe Connection Coupling
Pipe Connection Coupling
Pipe Connection Coupling

Ø20-Ø20
Ø25-Ø25
Ø32-Ø32
Ø40-Ø40
Ø50-Ø50
Ø63-Ø63

BRB00
BRB01
BRB02
BRB03
BRB04
BRB05

Pipe Connection (Internal Thread)
Pipe Connection (Internal Thread)
Pipe Connection (Internal Thread)
Pipe Connection (Internal Thread)
Pipe Connection (Internal Thread)
Pipe Connection (Internal Thread)

Ø20 1/2”
Ø25 3/4”
Ø32 3/4”
Ø32  1”
Ø40 1 1/4”
Ø40  1”

Ø20 1/2”
Ø25 3/4”
Ø32  1”

BRB19
BRB20
BRB21

ABV01
ABV04
ABV07
ABV10
ABV13

ABV02
ABV05
ABV08
ABV11

ABV03
ABV06
ABV09
ABV12
ABV15

Pipe Connection (External Thread)
Pipe Connection (External Thread)
Pipe Connection (External Thread)

Subscriber Connection Valve (Top Output)
Subscriber Connection Valve (Top Output)
Subscriber Connection Valve (Top Output)
Subscriber Connection Valve (Top Output)
Subscriber Connection Valve (Top Output)

Subscriber Connection Valve (Side Outlet)
Subscriber Connection Valve (Side Outlet)
Subscriber Connection Valve (Side Outlet)
Subscriber Connection Valve (Side Outlet)

Subscriber Connection Valve (Double Ball)
Subscriber Connection Valve (Double Ball)
Subscriber Connection Valve (Double Ball)
Subscriber Connection Valve (Double Ball)
Subscriber Connection Valve (Double Ball)

Ø25
Ø32
Ø40
Ø50
Ø63

Ø25
Ø32
Ø40
Ø50

Brass
Brass
Brass
Brass
Brass

Ø25
Ø32
Ø40
Ø50
Ø63

1



(TS EN 12288)

(TS 15 EN 1213)

CODE PRODUCT NAME DIAMETER SURFACE

ABV05_3
ABV08_4
ABV11_1

SYB01
SYB02
SYB03

RDK01
RDK02
RDK03
RDK04
RDK05
RDK06
RDK08

KTP01
KTP02
KTP03
KTP04
KTP05
KTP06

STP01
STP02
STP03
STP04
STP05
STP06

SBR21
SBR22
SBR23
SBR24
SBR25
SBR26

NPL01
NPL02
NPL03
NPL04

Subscriber Connection Valve (Side Outlet)
Subscriber Connection Valve (Side Outlet)
Subscriber Connection Valve (Side Outlet)

Brass Counter Gland
Brass Counter Gland
Brass Counter Gland

Reduction
Reduction
Reduction
Reduction
Reduction
Reduction
Reduction

Blind Plug
Blind Plug
Blind Plug
Blind Plug
Blind Plug
Blind Plug

Gate Valve
Gate Valve
Gate Valve
Gate Valve
Gate Valve
Gate Valve

Stop Valve
Stop Valve
Stop Valve
Stop Valve
Stop Valve
Stop Valve

Nippel
Nippel
Nippel
Nippel

Ø32
Ø40
Ø50

1/2” - 3/4”
3/4” -1”
1” - 1 1/4”
1 1/4” - 1 1/2”
1 1/2” - 2”
3/4” - 1 1/4”
1 1/2” - 3/4”

1/2” 
3/4”
1” 
1 1/4”

1/2” 
3/4”
1” 
1 1/4”
1 1/2”
2”

1/2” 
3/4”
1” 
1 1/4”
1 1/2”
2”

1/2” 
3/4”
1” 
1 1/4”
1 1/2”
2”

Ø20
Ø25
Ø40

Brass
Brass
Brass

Brass
Brass
Brass

Brass
Brass
Brass
Brass
Brass
Brass
Brass

Brass
Brass
Brass
Brass
Brass
Brass

Brass
Brass
Brass
Brass
Brass
Brass

Brass
Brass
Brass
Brass
Brass
Brass

Brass
Brass
Brass

2



(TS EN 13547)

Angle Radiator Valve Nickel1/2” RDY03

Angle Radiator Valve (Pex) Nickel1/2” RDY25

(TS 579)

(TS EN 1567)

(TS EN 1567)

(TS 15 EN 1213)

CODE PRODUCT NAME DIAMETER SURFACE

KSV21
KSV22
KSV23
KSV24
KSV25
KSV26

REG01
REG02
REG05
REG07

REG03
REG04
REG06
REG08

FLT01
FLT02
FLT03
FLT04
FLT05
FLT06

KRS240
KRS241
KRS242
KRS243
KRS244
KRS245
KRS246
KRS247
KRS248

Blow-O� Valve
Blow-O� Valve
Blow-O� Valve
Blow-O� Valve
Blow-O� Valve
Blow-O� Valve

Ball Valve 
Ball Valve 
Ball Valve 
Ball Valve 
Ball Valve 
Ball Valve 
Ball Valve 
Ball Valve 
Ball Valve 

Water Pressure Regulator 
Water Pressure Regulator 
Water Pressure Regulator 
Water Pressure Regulator 

Water Pressure Regulator 
Water Pressure Regulator 
Water Pressure Regulator 
Water Pressure Regulator 

Filter
Filter
Filter
Filter
Filter
Filter

1/2” 
3/4”
1” 
1 1/4”

1/2” 
3/4”
1” 
1 1/4”

1/2” 
3/4”
1” 
1 1/4”
1 1/2”
2”

1/2” 
3/4”
1” 
1 1/4”
1 1/2”
2”
21/2“
3”
4”

1/2” 
3/4”
1” 
1 1/4”
1 1/2”
2”

Brass
Brass
Brass
Brass
Brass
Brass

Brass
Brass
Brass
Brass
Brass
Brass

Nickel
Nickel
Nickel
Nickel
Nickel
Nickel
Nickel
Nickel
Nickel

Nickel
Nickel
Nickel
Nickel

Nickel
Nickel
Nickel
Nickel

3



25mm - 32mm - 40mm - 50mm - 63mm        Brass

• It is used in Single Spherical PVC-PE Pipe Networks with top outlet.

Valve

Saddle

SUBSCRIBER CONNECTION SETS 

50mm - 315mm Ductile Iron, 2 Bolts

• It is used in Single Spherical PVC-PE Pipe Networks with side outlets.

25mm - 32mm - 40mm - 50mm        Brass
Valve

Saddle
50mm - 315mm Ductile Iron, 2 Bolts

• It is used in Double Spherical PVC-PE Pipe Networks with side outlets.

32mm - 40mm        Brass
Valve

Saddle
63mm - 315mm Ductile Iron, 2 Bolts

• It is used in Single Spherical Ductile Pipe Networks with top outlet.

25mm - 32mm - 40mm - 50mm - 63mm        Brass
Valve

Saddle
100mm - 300mm Ductile Iron, 2 Bolts

• It is used in Single Spherical Ductile Pipe Networks with side outlets.

25mm - 32mm - 40mm - 50mm        Brass
Valve

Saddle
100mm - 300mm Ductile Iron, 2 Bolts

• It is used in Double Spherical Ductile Pipe Networks with side outlets.

32mm - 40mm         Brass
Valve

Saddle
100mm - 250mm Ductile Iron, 2 Bolts

• It is used in Single Spherical Ductile Pipe Networks with top outlet.

25mm - 32mm - 40mm - 50mm - 63mm        Brass
Valve

Saddle
100mm - 250mm Ductile Iron, 4 Bolts

• It is used in Double Spherical Ductile Pipe Networks with side outlets.

32mm - 40mm       Brass
Valve

Saddle
100mm - 250mm Ductile Iron, 4 Bolts

• It is used in Single Spherical Ductile Pipe Networks with side outlets.

25mm - 32mm - 40mm - 50mm         Brass
Valve

Saddle
100mm - 250mm Ductile Iron, 4 Bolts

4



In drinking water networks; It is the set that provides the 
transition to the subscriber connection pipe (polyethylene pipe).
Subscriber connection set consists of a combination of ductile 

iron necklace and brass subscriber connection valve.

SUBSCRIBER CONNECTION KIT

Saddle Body:
Saddle Body Bolt,Nut,Washer:
Saddle Gasket:
Saddle Coating:

Subscriber Connection Valve:

Ductile Casting GGG 40
Cr - Ni
EPDM
Electrostatic Powder Coating 
(Min. 240 micron) or Galvanized Coating
Copper alloy (Brass material)

Product Features:

The subscriber connection set has been designed according to the 
underground working conditions, and the material selection and wall 
thicknesses are in a way to keep the working life of the product at the 
maximum level.
Through special drilling apparatus, there is no need to cut off the water 
during assembly.
It is fully compatible with network pipe and polyethylene pipe.
It offers a monoblock solution instead of multi-product joining. 
Installation is very quick and easy also economical.

Advantages:

Double-sphere side outlet 
subscriber connection set

Single-spherical side outlet 
subscriber connection set

Single globe top outlet 
subscriber connection set

 Types Of Subscriber Connection Sets:

5



INSTALLATION OF SUBSCRIBER CONNECTION KIT

The subscriber connection valve 
is connected to the network pipe 

with a saddle.

The pipe drilling machine is screwed into place in the valve 
by turning it.

The mini ball valve on the pipe 
drilling machine is turned to the 

closed position.

Pipe drilling begins as the key is 
turned. Drilling process is completed 
with the help of the turning handle of 

the machine.

Completing the drilling of the drill Through mini ball valve, the 
particles formed after the drilling 

process are thrown out.

Drilling ball is turned off. Previously removed blind plug is 
put back in place.

After pipe connection process is 
completed,  spheres are completely 

opened.

The transaction is completed. 

The ratchet wrench is attached to 
the pipe drilling machine spindle.

The blind plug on the valve is 
removed.

The opening-closing sphere is 
brought to the closed position.

The drilling ball is turned on.

6

SUBSCRIBER CONNECTION VALVE SADDLE

MAIN NETWORK PIPE

BLIND PLUG

OPENING-CLOSING SPHERE
DRILLING BALL

MINI BALL VALVE
RATCHET WRENCH

TURNING HANDLE



SADDLE 

MAIN NETWORK PIPE 

SUBSCRIBER 
CONNECTION VALVE

MINI BALL VALVE

PIPE DRILLING MACHINE

COMBINED KEY

SUBSCRIBER 
CONNECTION PIPE 

(Ductile Pipe)

(Clamp)

(Polyethylene)

There is no need to cut off the water 
during drill  pipe.
It does not cause water loss.
Working personnel do not get wet.
No additional equipment or energy is 
required.
It provides fast and smooth drilling of 
the pipe.
It works flawlessly on all kinds of pipes.

It is apparatus that allows the pipe to 
be drilled properly and without any 

problems in order to make a 
subscriber connection from the main 

pipe in drinking water networks.

7



8

P I P E  D R I L L I N G  M A C H I N E  
I N S T A L L A T I O N  D I A G R A M  A N D  

U S E R ' S  M A N U A L



BDM06 - Ø32 PIPE DRILLING MACHINE

NO STOCK NAME STOCK CODE PIECE
1          GÖV677 PIPE DRILLING MACHINE BODY FLANGE             
2          BOR133 PIPE DRILLING MACHINE BODY PIPE          
3          KOL121 PIPE DRILLING MACHINE SIDE HANDLE(without pin)
4          KOL120 PIPE DRILLING MACHINE SIDE HANDLE(with pin)
5          GÖV678 PIPE DRILLING MACHINE BODY PLATE
6          MİL217 M20x2,5 SCREW SHAFT
7          KOL119 M10x120 GUIDE LEVER
8          SOM380 M12 NUT
9          GÖV679 PIPE DRILLING MACHINE PIN BODY
10        MİL219 PIPE DRILLING MACHINE PIN SHAFT
11        KOL122 PIPE DRILLING MACHINE PIN ARM
12        YAY026 Ø0,8x22 PIN SPRING
13        ANH004 - 22MM COMBINED WRENCH WITH LATCH
14        ORN028 - Ø24xØ2 SHORE 65 EPDM 0-RİNG
15        ALL001 - 2.5 ALLEN KEY
16        SOM379 M10 NUT
17        VİD204 - M12x30 PIN BOLT
18        KRS15 MINI BALL VALVE(1/2”E - 1/2”D)
19        VİD205 M5x8 SETSKUR SCREW
20         MİL218 PIPE DRILLING MACHINE GUIDE SHAFT
21         UCK006 Ø20 DRILL
22         ADP026 PIPE DRILLING MACHINE ADAPTER
23         CON263 Ø50xØ35x2,5 FASTENING GASKET
24         ORN052 - Ø24x4 O-RİNG                          

5000801677             1
5000203133             1
5001306121             1
5001306120             1
5000801678             1
5001501217             1
5001306119             1
5002104380             2
5000801679             1
5001501219             1
5001306122             1
5002700026             1
5000103007             1
5001700028             2
5000130001             1
5002104379             2
5002600204             2
4011003203             1
5002600205             2
5001501218             1
5002400006             1
5000100026             1
5000300263             1
5001700052             1

                

 

9



BDM07 - Ø40 PIPE DRILLING MACHINE

NO STOCK NAME STOCK CODE PIECE
1          GÖV677 PIPE DRILLING MACHINE BODY FLANGE             
2          BOR133 PIPE DRILLING MACHINE BODY PIPE          
3          KOL121 PIPE DRILLING MACHINE SIDE HANDLE(without pin)
4          KOL120 PIPE DRILLING MACHINE SIDE HANDLE(with pin)
5          GÖV678 PIPE DRILLING MACHINE BODY PLATE
6          MİL217 M20x2,5 SCREW SHAFT
7          KOL119 M10x120 GUIDE LEVER
8          SOM380 M12 NUT
9          GÖV679 PIPE DRILLING MACHINE PIN BODY
10        MİL219 PIPE DRILLING MACHINE PIN SHAFT
11        KOL122 PIPE DRILLING MACHINE PIN ARM
12        YAY026 Ø0,8x22 PIN SPRING
13        ANH004 - 22MM COMBINED WRENCH WITH LATCH
14        ORN028 - Ø24xØ2 SHORE 65 EPDM 0-RİNG
15        ALL001 - 2.5 ALLEN KEY
16        SOM379 M10 NUT
17        VİD204 - M12x30 PIN BOLT
18        KRS15 MINI BALL VALVE(1/2”E - 1/2”D)
19        VİD205 M5x8 SETSKUR SCREW
20        MİL220 PIPE DRILLING MACHINE GUIDE SHAFT
21        UCK007 Ø24 DRILL
22        ADP028 PIPE DRILLING MACHINE ADAPTER
23        CON263 Ø50xØ35x2,5 FASTENING GASKET
24        ORN009 - Ø35x3.5 O-RİNG                

5000801677             1
5000203133             1
5001306121             1
5001306120             1
5000801678             1
5001501217             1
5001306119             1
5002104380             2
5000801679             1
5001501219             1
5001306122             1
5002700026             1
5000103007             1
5001700028             2
5000130001             1
5002104379             2
5002600204             2
4011003203             1
5002600205            2
5001501220            1
5002400007            1
5000100028            1
5000300263            1
5001700009            1

                

10



BDM04 - Ø50 PIPE DRILLING MACHINE 

NO STOCK NAME STOCK CODE PIECE
1          GÖV677 PIPE DRILLING MACHINE BODY FLANGE             
2          BOR133 PIPE DRILLING MACHINE BODY PIPE          
3          KOL121 PIPE DRILLING MACHINE SIDE HANDLE(without pin)
4          KOL120 PIPE DRILLING MACHINE SIDE HANDLE(with pin)
5          GÖV678 PIPE DRILLING MACHINE BODY PLATE
6          MİL217 M20x2,5 SCREW SHAFT
7          KOL119 M10x120 GUIDE LEVER
8          SOM380 M12 NUT
9          GÖV679 PIPE DRILLING MACHINE PIN BODY
10        MİL219 PIPE DRILLING MACHINE PIN SHAFT
11        KOL122 PIPE DRILLING MACHINE PIN ARM
12        YAY026 Ø0,8x22 PIN SPRING
13        ANH004 - 22MM COMBINED WRENCH WITH LATCH
14        ORN028 - Ø24xØ2 SHORE 65 EPDM 0-RİNG
15        ALL001 - 2.5 ALLEN KEY
16        SOM379 M10 NUT
17        VİD204 - M12x30 PIN BOLT
18        KRS15 MINI BALL VALVE(1/2”E - 1/2”D)     
19        MİL221 PIPE DRILLING MACHINE GUIDE SHAFT
20        Ø33 PUNCH
21        ADP035 50 PIPE DRILLING MACHINE ADAPTER
22        CON263 - Ø50xØ35x2,5 FASTENING GASKET
23        VİD205 M5x8 SETSKUR SCREW
24        ORN009 - Ø35xØ3.5 PIPE CONNECTION O-RING                             

5000801677             1
5000203133             1
5001306121             1
5001306120             1
5000801678             1
5001501217             1
5001306119             1
5002104380             2
5000801679             1
5001501219             1
5001306122             1
5002700026             1
5000103007             1
5001700028             2
5000130001             1
5002104379             2
5002600204             2
4011003203             1
5001501221             1
5003000003             1
5000100035             1
5000300263             1
5002600205             4
5001700009             1 19

20

21

22

23

24

11



BDM05 - Ø63 PIPE DRILLING MACHINE

NO STOCK NAME STOCK CODE PIECE
1          GÖV677 PIPE DRILLING MACHINE BODY FLANGE             
2          BOR133 PIPE DRILLING MACHINE BODY PIPE          
3          KOL121 PIPE DRILLING MACHINE SIDE HANDLE(without pin)
4          KOL120 PIPE DRILLING MACHINE SIDE HANDLE(with pin)
5          GÖV678 PIPE DRILLING MACHINE BODY PLATE
6          MİL217 M20x2,5 SCREW SHAFT
7          KOL119 M10x120 GUIDE LEVER
8          SOM380 M12 NUT
9          GÖV679 PIPE DRILLING MACHINE PIN BODY
10        MİL219 PIPE DRILLING MACHINE PIN SHAFT
11        KOL122 PIPE DRILLING MACHINE PIN ARM
12        YAY026 Ø0,8x22 PIN SPRING
13        ANH004 - 22MM COMBINED WRENCH WITH LATCH
14        ORN028 - Ø24xØ2 SHORE 65 EPDM 0-RİNG
15        ALL001 - 2.5 ALLEN KEY
16        SOM379 M10 NUT
17        VİD204 - M12x30 PIN BOLT
18        KRS15 MINI BALL VALVE(1/2”E - 1/2”D)     
19        MİL221 PIPE DRILLING MACHINE GUIDE SHAFT
20        Ø44 PUNCH
21        ADP036 63 PIPE DRILLING MACHINE ADAPTER
22        CON437 - FASTENING GASKET
23        VİD205 M5x8 SETSKUR SCREW
24        ORN228 - PIPE CONNECTION O-RING                                  

5000801677             1
5000203133             1
5001306121             1
5001306120             1
5000801678             1
5001501217             1
5001306119             1
5002104380             2
5000801679             1
5001501219             1
5001306122             1
5002700026             1
5000103007             1
5001700028             2
5000130001             1
5002104379             2
5002600204             2
4011003203             1
5001501221             1
5003000004             1
5000100036             1
5000300437             1
5002600205             4
5001700228             1 

19

20

21

22

23

24

12



Beylikdüzü OSB Mah. Birlik Sanayi Sitesi 
3.Cadde Keleşoğlu Plaza Kat:1 No:37  
Beylikdüzü/ İstanbul     
Tel: +90 212 879 00 30      Fax: +90 212 879 00 35
export@gpd.com.tr 

Sales Office Factory
Beylikdüzü OSB Mah. Sardunya Cad. 
No:7 İç Kapı No:1 
Beylikdüzü / İstanbul

    Tel: +09 212 875 31 67   Fax: +90 212 875 05 69
info@gpd.com.tr

First Patented and Useful Product Registered in 
Turkey in Pipe Water Outlet Clamps and Subscriber 

Connection Valve Set


